Jamir has now made a group
of friends, but he has fallen
so far behind academically,
that it is difficult to keep up

with lessons.

Which strategies
would you propose?

Other children tease him
as he is the only child
with a disability in the

school, and he wants to

drop out.

? Which strategies
H would you propose?

Jamir can access the
school buildings, but the
toilets have narrow
doorways, steps and no
lockers.

? Which strategies
u would you propose?

The road to school is
uneven and unsafe, and the
school is too far for Jamir to

push his wheelchair up to
the school.

Which strategies
would you propose?

Jamir is always at
home, as he can only
walk short distances

using his crutches.




